| total events O=anyInput 8=anyAccept |

Entries

................................

0 1 2 3 4

Mean

~Irms

59226
1.793

2.622

..............................................

5 6 7 8 9

Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd

|rauaofinputevents

| L2 time used per input event

F8000f
14000F
12000
10000f
8000}
6000}
4000

2000

o

BOOOF
3000
(0]

0

Mean

RMS

Entries 398897
67.73

11.58

...................................................................................

.....................................................................................

0

150 200 250 300 350 400
x: time (CPU kTics)

50 100

Entries

45

................................................................

y: rate (Hz)

40

35

30

25

20

15

10

Mean

RMS

46670

594.9
326.7

...............................................

1000

1500 2000
X: time in this run (seconds)

2500

4ccpet rate blue:monoJet, red:diJet, black:randon1

y: rate (Hz)

Entries 3421

Mean 598.6
RMS 325.6
| 1 1 I | 1 1 1
1500 2000 2500

X: time in this run (seconds)



BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+

o
Xx: BTOW softiD.

o
x: BTOW softiD.

o
Xx: BTOW softiD.

soft=4001+,

o
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

rate

crate=2"

: i=chan+128*crate

crate=3’

i=chan+128*crate

crate=4

i=chan+128*crate

crate=5"

x: i=chan+128*crate

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

RP~Sectop
o

y; phi bi

30

Entries 17540

BTW-est

35 40

X: eta bin, [-1,+1]

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]




Et Jetl-Jet2 (input) |

>
(o)

Jet2 Et/G

12

10

Entries 46670

y: iPhi2 ~sector

30

N
¢

20

15

10

8

10 12
x: Jetl Et/GeV

0

|diJetl eta-phi (input)]

y: iPhi ~sector

30

20

15

10

Entries 46670

25 30
x: iPhil ~sector

# 200

I350

300

250

150

100

50

|diJet2 eta-phi (input)|

y: iPhi ~sector

30

N
(&2}

20

15

10

BTOW-West| Endcap

6 8 10

BTOW-West| Endcap

Entries

12 14
x: iEta [-1,+2]

46670

300

250

200

150

100

50

Entries 46670

12 14
X: iEta [-1,+2]

1000

800

iGOO

400

200



Jetl Et (input) Entries 46670 Jet2 Et (input) Entries 46670
TMean 5.318 T|Mean 2271

[RMS 1.947 RMS 1.275

104

108 - L P P et

oz o 0. TURURRNE O SRRSO SR

T S e e T o 5 S
=50 =50
x: Et (GeV) x: Et (GeV)
| #BTOW towers>ped+8 (input) | Entries 46670 total Et (input) Entries 46670
r T T T T T T T T Mean 32.76 -1Mean 18.5
1400 ==~~~ ] M vt P T R T IRMS 14.06 - RMS 5.306
1200 : : SRR e RS 10°
1000 -
2
800 10
600
10
400
O e i e R e N el Attt Sttt et St ity R S
0|||I|||I|||I|.. L PR T T T (N TN WO T (T T T T T N "
0 20 40 60 80 100 120 140 160 180 200 0 10 20 30 40 50 60
x: # of towers/event x: Et (GeV)
# ETOW towers>ped+8 (input) | Entries 46670
1800F T T T T T T T T Mean 19.37
E . : : : : : : : RMS 11.35
1600 |-
1400 &
1200 |-
1000
800
600
400
200 |-
Y =R I I IR B i j i i
0 10 20 30 40 50 60 70 80 90 100

x: # of towers/event



one-Jet Et (accepted) |

Entries 3421

0 10 20 30 40 50

X: jet Et (GeV)

one-Jet eta-phi (accepted)

D TUYV

y: iPhi ~sector

Entries 3421

180

160

140

120

100[F

80

60

40

one-Jet eta (accepted) |

20 :_ ......................................................................................
0 : 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30

x: iPhi ~sector

-West| Endcap

Entries 3421

2 14
:iEta [-1,+2]

Entries 3421

450

400

350

300

250

200

150

100

50

O 1 1 1 i 11 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1

o

2 4 6 8

10 1

2 14

x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)] [Enties  3083]  IdjJetl eta-phi (accepted)]
BT O\W/- oToW-Wes
> 12 _ 30 =
T o
S 3
N - (]
T 10 th
C =
o
al 5
6
4_
2 -
% 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted)] [Enties  3083]  [djJet2 eta-phi (accepted)|
20 D TOV/-E - oToW-Wes

10

40
I35

30

25

0 5 10 15 20 25 30

x: iPhil ~sector

0 2 4 6 8 10 12 14
x: iEta [-1,+2]



|diJet Et (accepted)|

10

Entries 3083

8.162
2.555

—|Mean

:{RMS

............................................................................

“[—High Et jet
“|--- Low Et jet

-

IR EET . (R SEEE TR Thy T

0 lO 20 30 40 50 60

x: Et (GeV)

|diJet eta (accepted) |

500

400

300

200

100

Mean

Entries 3083
8.831
3.868

§ RMS

NSRS SO S S S et R
: — H|gh Et jet _l—-

B --- Low Et jet EEEY

h ...f;f"' """""" """"""""

...........................................................

o

2 4 6 8 10 12 14
x: i Eta[-1,+2]

160

140

120

100

80

60

40

20

Entries 3083

- m -

I

—— ngh Et jet
--- Low Et jet

0 5 10 15 20 25 30

x: iPhi ~sector

I |Mean  14.81
- :[RMS  8.979

|diJet delZeta (accepted)|

350F

300

250

200

150

100

50

Mean

Entries 3083

30.9
5.62

RMS

0 10 20 30 40 50 60
x: delta zeta (rad*10)




Mean x  8.831
Mean y 30.9

|diJet delZeta vs. etal (accepted) | Entries 3083 |diJet eta2 vs. etal (a Entries 3083

Fxlean X 8.831
eany 8.076
0

y: delta zeta (rad*10)
x: iEta2 [-1,+2]

OIllillliIllilllilllilllilllil

0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
|diJet delZeta vs. avrPhi (accepted) | Enirles 2083 |total Et diJet (accepted)] Entries 3083
=~ e e M ' ,
S : ; T iy 209 C "|Mean 2251
* - :
R T = — = —u— _— " T N 7 7o) NSRS NSO OO SRR S o
= 35 N
S TR W = = — e = — -
g | - -
s [T Feeeneesee e —30 200f— e e
© § § ' ' C
2 5 g ) —25 -

10 ST O TET - St . i L151o| USRS SURUON OO SOUUURS HUUUOE SORURSUORUE SOSUPRRIRUE SRR
o 1l =20 -
T s 100F— -+ fobr s
T pr A A 10 C
T T ST S ST b 0 T SR R e e SRR

5 5 5 5 = 5 N
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O_l 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 l |_|Jl 1 | I ]
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE) |

Entries

> 12

Jet2/Ge

10 S — S—

...........................

10 12
x: Jetl/GeV

|diJet phil-phi2 (accepted_ EE) |

556

180

160

140

120

100

80

60

40

diJetl eta-phi (accepted EE Entries 556
| 30 RT(?\/\I-FS-IQ]‘ pD T u_vv-v)v|€St Endcap "
) EEERUUUUN SO SN AUV SOOI SO 12
10

y: iPhi ~sector

.........................

15

10

.........................

Olllilllil
0 2 4

12 14
x: iEta [-1,+2]

6 8 10

Entries

y: iPhi2 ~sector

30

20 25 30

x: iPhil ~sector

556

|d|Jet2 eta-phi (accepted_ EE)|

Entries 556

y: iPhi ~sector

RT(')\I\I Fncf

est|

Endcap

D TUVVEVV

30

N
(&2}

20

15

10

O 1 1 1 i 11 1 i 1

0 2 4

6 8 10

12
X: iEta [-1,+2]

14



|diJet eta (accepted EE) |

180

160

140

120

100

80

60

40

20

Entries

Mean

RMS

556
12.93

1.114

— H|gh Etjet
--- Low Et jet

PR BT S TSI T S A 1

|diJet Et (accepted EE)| Entries 556
I S T . Mean  5.311
IRE | O TS SO S |IRMS  1.176

10° :_E ......
o ngh Etjet ......................
: Low Et Jet
10F,:
1 _J: el vl e il e B Wl Wl Ll L o Tl i i el e el
0 10 20 30 40 50 60
x: Et (GeV)

|diJet phi (accepted EE)| Entries 556
= T |Mean 14.36
C : IRMS  8.617

e B AR R e :

251 --------------------------

ool [ et 1)
C —ngh Et jet

15 --I-_ILaN Et jet

O oo
- RED Jetl ET > GREEN Jet2 ET

3 A
:I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1

0 5 10 15 20 25 30

x: iPhi ~sector

40

35

30

25

20

15

10

12 14
x: i Eta[-1,+2]

Entries

Mean

556
31.63
8.421

RMS

20

30 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EE) |

y: delta zeta (rad*10)

60

50

40

30

20

10

Entries
Mean x

0IllillliIllilllilllilllilllil

Mean y

556
12.93
31.63

0 2 4 6 8 10

12 14
x: iEtal [-1,+2]

IO

|diJet eta2 vs. etal (accepted_EE)|

x: iEta2 [-1,+2]

Entries

Endcaf)ican x

eany

[ee]

0 2 4 6 8 10

diJet delZeta vs. avrPhi (accepted_EE) |

y: delta zeta (rad*10)

Entries
Mean x

Mean y

556
14.56
31.63

.....................................

...................

1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
1O 5 10 15 20 25

x: (iphil+iphi2)/2 (12 deg/bin)

30

|tota|

50

40

30

20

10

60

Et diJet (accepted_EE)|

12 14
x: iEtal [-1,+2]

556
12.93
13.06 J

20

10

Entries

:|Mean

556

18.3

..................................................................

..................................................................................

1 1M1 I 1 1 11 I 1 1 1 1

0 10 20 30 40

50 60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted_EB)|

Entries 689

s 12 T T T T T
Q = . . . . .
o L : : : : : I180
St : : : : :
8 10p e o R | 160
- : : : ' —140
S I S S —120
100
6_ .........................................
L 80
4— ------------------------------------------
b e T T T e R P TR R RE Tt PEPRT PR PR
0 1 1 1 | 1 1 1 | 1 1 1

10 12
x: Jetl/GeV

|diJet1 eta-phi (accepted EB)|

Entries 689

30

y: iPhi ~sector

15

10

0

oTovv=vwwest Endcap

BTOW-East

.........................
.........................

.........................

0 2 4

12 14
x: iEta [-1,+2]

Entries 689

30

N
¢

y: iPhi2 ~sector

20

0 5

20 25 30

x: iPhil ~sector

10

|d|Jet2 eta-phi (accepted EB)|

Entrles

30

N
(&2}

y: iPhi ~sector

20

10

est| Endcap

T'OUOVV=VY

BTOW-East

0 2 4

12 14
X: iEta [-1,+2]



689
7.522
1.481

Entries

|diJet Et (accepted_EB)|

= T T T T —|Mean

— H|gh Etjet
--- Low Et jet

40 50 60

x: Et (GeV)

diJet

Entries

eta (accepted EB)]

180F
160F

140F

S| EHNUURS SO SN BT T

200

70| AN SO SR '

00

Rt s s R 2

0] SR AR o b

P10 SN SRR PO A '

Mean

“|RMs

689
11.19
1.648

—H|gh Et jet
---LowEtjet | i

: : jm'_ : : :
JLJIJILILJLIIIIIIIIIIIIIIIII

2 4 6 8 10 12 14
x: i Eta[-1,+2]

|diJet phi (accepted EB)| Entries 689
: [Mean 14.46
1] AN SOOOOOOO U OO SOOSHOOON S ;-
_—_— [RMs 8756
25 : :.";ll_r—_i

20 — ngh Et jet

--- Low Et jet
15

o '. ........... H ______________ _____

0 5 10 15 20 25 30
x: iPhi ~sector

diJet

Entries

delZeta (accepted EB)|

Mean

689

31.02
5.709

RMS

H—'-i_l—ﬂnllil

10 20 30 40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EB)| Entries 689 |diJet eta2 vs. etal (accepted EB)| Entries 689
= Mean x  11.19 = = Endca ean x 11.19
s F : —{Meany 3102 = [ Saa eany 1098
:‘ 60__ """""""""""""""""""""""""""""""""""""" - """"""""" + (/) R R R P EE PP P PREPEE AP PE
8 : N
~ : . : N - -
o 50—2 ----- w—. R s S ST A cap
(0] = I_I_J -
N - . . -
© L ] X -
= T 10
B AQ e L -
SO C
: 8_ ------------------------------------------------------------
B0 L
n 10 ] R ] S
20w e R .
- 4_— """"""""""""""""""""""""""""""""""""""""""""""""""""""
r : 5 L
T R LTSI SISO SUNSRNS SN S — e 4 RO OO YOUUNNN VOO VOV WOOPUOOONS NSO S
O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZetavs. avrPhi (accepted_EB) |  [Entries 689 ltotal Et diJet (accepted EB)| Entries 689
Mean x  14.63 =
s P M = : : : :
S reany SOz 70 IMean 21.25
* .
i 9 '
< g 10] EeSETNE Y I ST RIS R
(0]
N
5_5 7 Y0 X A A
(]
° 6
> A0 e
5
4 B0
3 20—
e T e 2
0 O PP P Ip
1 »
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O C 1 1 1 1 1 1 1 i 1 1 1 1 i 1 11 i 1 1 1 i 1 1 1 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

x: Et (GeV)



|diJet1 eta-phi (accepted BB)

oTovv=vwest Endcap

y: iPhi ~sector

|Et of Jetl vs. Jet2 (accepted BB)| [Entries 2130
s 12
() -
Q
N L
2 10
o
6
4 -
2 —
!
0 2 4 6 8 10 12
x: Jetl/GeV
|diJet phil-phi2 (accepted BB) | Entries 2130
30

y: iPhi2 ~sector
N
(82

I30

—25

0 5 10 15 20 25 30

x: iPhil ~sector

|diJet2 eta-phi (accepted_BB)

D O\\/ - = DTUVVEVV
O

y: iPhi ~sector

Entries 2130

12 14
x: iEta [-1,+2]

12 14
X: iEta [-1,+2]

Entries 2130

35

30

18

16

14

12




|diJet Et (accepted BB) |

=

o
N
|

10

1—J'-'l"'r ol I Lk ELA T J_ o B ol Sl LJ e R TEEIEE ERY LETTRS ~ I ER] SRR TEr L T

|Mean 9.

........ RS i HRMS 2.

Entries 2130

147
357

CEpnnLn — ngh Etjet
' “1--- Low Et jet

.....................

-

0 10 20 30 40 50 60
x: Et (GeV)

|diJet phi (accepted BB)|

|diJet eta (accepted BB)| Entries 2130

250

200

150

100

50

o

Mean 7.354

:_ -------- -------------------------------- ----------- -------------- RMS  3.659
_ """""""" _l_ """"""""""""""

C —H|gh Etjet '

(" Low Etjet -

2 4 6 8 10 12 14
x: i Eta[-1,+2]

120f-+ oo S S S A :

100] S———

80 B I R I "'.":."."'i """ -'Ilr:.:i_:--
e e 1M

60—-r-y-- ' ...........

]| I |_|| .............. SR

A R L L R P E T PP PP PP PP .. .............

. [RMS

Entries 2130
Mean 14.96

9.09

—— ngh Et jet
--- Low Et jet

RED Jetl ET > GREEN Jet2 ET

0 5 10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted_BB) | Entries 2130

300

250

200

150

100

50

Mean 30.68

RMS  4.448

..................................................................................

A"Z'ftéb'h'i'(Jl';JiZ)"*' |gn( ----- st)

T

.................................................................................

== I I | I 1

0 10 20 30 40 50 60

x: delta zeta (rad*10)



|diJet delZeta vs. etal (accepted BB)] entries 2150
Meany  30.68

y: delta zeta (rad*10)

0 2 4 6 8

IO

10 12 14
x: iEtal [-1,+2]

Entries

x: iEta2 [-1,+2]

End(:aqtﬁ:ea"X

eany

10 12 14

x: iEtal [-1,+2]

diJet delZetavs. avrPhi (accepted_BB) | “EA”"ieS 124132
ean X .
T e —{Meany 30,68

y: delta zeta (rad*10)

e

—30

—25

—15

10

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

2130
7.354
6.244

Entries

180f

160

140

120

100

80

60

40

20

oF

2130

23.97

:|Mean

I—I.JII—I—I

20 30 40 50

x: Et (GeV)

60



